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STATISTICS

1. Give some examples of data that you can collect from your day to day

life.

° Watch Video Solution

2. Classify the data in Above as primary and secondary data.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UWomlb2ZCUBO
https://dl.doubtnut.com/l/_4dhDaDZ2ukqg
https://dl.doubtnut.com/l/_4h47L4v8J94J

3. The blood groups of 30 students of a class VIl are recorded as follows :

A, B,0,0,AB, 0, A, 0,B, A, 0,B, A,

AB, O, A A 0,0,AB, B, A,

Represent

this data in the form of a frequency distribution table. Which is themost

common and which is the rarest blood group among these students ?

o Watch Video Solution

4. Distance (in km) of 40 engineers from their place of residence to their

place of work were found as follows
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Construct n

grouped frequency distribution table with class size 5 for the data given


https://dl.doubtnut.com/l/_4h47L4v8J94J
https://dl.doubtnut.com/l/_9UEmInMLetkk

above taking the first interval as O— 5 (5 not included). What main

features do you observe from this tabular representation ?

° Watch Video Solution

5.The relative humidity (in %) of a certain city for a month of 30 days was

8.1 986 992 90.3 §6.5
5.3 929 963 24.2 95.1
89.2 923 971 93.5 927
951 972 933 95.2 973
96.2 92.1 849 90.2 95.7
98.3 973 9.1 92.1 89

as follows :

Construct a grouped frequency distribution table with classes 84 - 86, 86-

88 etc.

o Watch Video Solution

6. The relative humidity (in %) of a certain city for a month of 30 days was

as follows :


https://dl.doubtnut.com/l/_9UEmInMLetkk
https://dl.doubtnut.com/l/_I5aycUIlJwNa
https://dl.doubtnut.com/l/_dvDpEsSnINCw

98.1 98.6
953 929
89.2 923
95.1 97.2
9.2 9.1
983 973

99.2
96.3
97.1
93.3
84.9
96.1

90.3
94.2
93.5
95.2
90.2
92.1

86.5
95.1
92.7
13
95.7
89

month or season do you think this data is about ?

Which

o Watch Video Solution

7.The relative humidity (in %) of a certain city for a month of 30 days was

as follows :
98.1 986 992 90.3 86.5
95.3 929 963 24.2 95.1
89.2 93 971 935 927
951 972 933 95.2 973
96.2 921 849 90.2 95.7
983 973 96.1 92.1 89

range of this data ?

: What is the

| e


https://dl.doubtnut.com/l/_dvDpEsSnINCw
https://dl.doubtnut.com/l/_FAVKN0ASy2ab

| &J Watch Video Solution

8. Match the following :
(i) sin (90°=A) (a) Sin A
(if) Cos 0° (&) 0
(iif) Sin 0° (c) 1
(iv) Cas (90°-A) (d) Cos A

° Watch Video Solution

9. The heights of 50 students, measured to the nearest centimetres have

been found to be as follows :


https://dl.doubtnut.com/l/_FAVKN0ASy2ab
https://dl.doubtnut.com/l/_zUpQymJ4ym3g
https://dl.doubtnut.com/l/_PpygQWFgW82U

161 150 154 165 168 161 154
162 150 151 162 164 171 165
158 154 156 172 160 170 153
159 161 170 162 165 166 168
165 164 154 152 153 156 158

162 160 161 173 166 161 159
162 167 168 159 158 153 154

159 : What can

you conclude about their heights from the table ?

o Watch Video Solution

10. A study was conducted to find out the concentration of sulphur
dioxide in the air in parts per million (ppm) of a certain city. The data

obtained for 30 days is as follows :

0.03 0.08 0.08 0.09 0.04 0.17
0.16 0.05 0.02 0.06 0.18 0.20
0.11 0.08 0.12 0.13 022 0.07
0.08 0.01 0.10 0.06 0.09 0.18
0.11 0.07 0.05 007 0.01 0.04

Make a



https://dl.doubtnut.com/l/_PpygQWFgW82U
https://dl.doubtnut.com/l/_Vx3Lb0jNmfKj

grouped frequency distribution table for this data with class intervals as

0.00 - 0.04, 0.04 -0.08 and so on.

° Watch Video Solution

1. A study was conducted to find out the concentration of sulphur

dioxide in the air in parts per million (ppm) of a certain city. The data

obtained for 30 days is as follows :

0.03 0.08 0.08
0.16 0.05 0.02
0.11 0.08 0.12
0.08 0.01 0.10
0.11 0,07 0.05

0.09
0.06
0.13
0.06
0.07

0.04
0.18
0.22
0.09
0.01

0.17
0.20
0.07
0.18
0.04

For how many

days, was the concentra-tion ofsulphur dioxide more than 0.1 parts per

million.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vx3Lb0jNmfKj
https://dl.doubtnut.com/l/_rqCscKBjjB4p

12. Three coins were tossed 30 times simultaneously.Each time thenumber

of heads occurring was noted down asfollows :

OI1IZZ2Z12 3 130
131122 (0 121
S001 12 3 Z20

Prepare a
frequency distribution for the data given above
o Watch Video Solution
13. The value of Pl upto 50 decimal places is given below :
3.1415926535 8979323846 2643383279
5028841971 6939937510 | .

the most and the least frequency occurring digits ?

o Watch Video Solution



https://dl.doubtnut.com/l/_USbc5nf5zQ2N
https://dl.doubtnut.com/l/_dMmiq9B9DcKA

14. The value of Pl upto 50 decimal places is given below :

3.1415926535 8979323846 2643383279

5028841971 6939937510

the most and the least frequency occurring digits ?

: What are

o Watch Video Solution

15. Thirty children were asked about the number of hours they watched
TV programmes in the previous week. The results were found as follows :
16235 12 5§ 8B3B48

103 4 122 8 15 1. 17 6
IZ2ZRS9CG 8 T 1412

Make a

frequency distribution table for this data, taking class width 5 and one of

the class interval as 5— 10

o Watch Video Solution



https://dl.doubtnut.com/l/_LpePcJh35XZU
https://dl.doubtnut.com/l/_3tiMmoVMP6yY

16. Thirty children were asked about the number of hours they watched

TV programmes in the previous week. The results were found as follows :

103 4
SZ23596

16235

12

12 2 8

>
15
8

245

1
7

17
14

i3
12

children watched television for 15 or more hours a week ?

: How many

o Watch Video Solution

17. A company manufactures carbatteries of particular type. The lives (in

years) of 40 such batteries were recorded as follows :

2.6
35
2.5
3.5
4.6

3.0
23
4.4
3.2
3.8

3.7
3.2
3.4
3.9
3.2

3.2
3.4
3.3
3.2
2.6

2.2
3.8
2.9
3.2
3.5

4.1
32
3.0
3.1
4.2

3.5
4.6
4.3
3.7
2.9

4.5
3.7
2.8
34
3.6

Construct a

grouped frequency distribution table for this data, using class intervals of

size 0.5 starting from the interval 2— 2.5.


https://dl.doubtnut.com/l/_yu3GtasMaJ7f
https://dl.doubtnut.com/l/_dc1uJJK0xnB5

o Watch Video Solution

18. A survey conducted by an organisation for the cause of illness and
death among the women between the ages 15 - 44 (in years) worldwide,
found the following figures (in%)

 (##MBD_MAT XI_C14_S04_001 QO1.png" width="80%"> Represent the

information given above graphically :

o Watch Video Solution

19. A survey conducted by an organisation for the cause of illness and
death among the women between the ages 15 - 44 (in years) worldwide,

found the following figures (in%)


https://dl.doubtnut.com/l/_dc1uJJK0xnB5
https://dl.doubtnut.com/l/_ejWm2rwbLBaV
https://dl.doubtnut.com/l/_35g8ITX8nHrF

Causes Female Mortality
rate (%a)

1. Sexual & Reprodu— 3.8
ctive health conditions

2. Newropsychiatric 254
conditions

3. Injuries 12.4

4. Cardio vascular 4.3
condition

5. Respiratory conditions 4.1

6. Other causes 22.0 . Which

condition is the major cause of women’sill health and death worldwide ?

o Watch Video Solution

20. The following data on the number of girls (to the nearest ten) per

thousand boys in different sections of Indian Society is given below :


https://dl.doubtnut.com/l/_35g8ITX8nHrF
https://dl.doubtnut.com/l/_v6MwDiokj0tX

Section Number of girls

per thousand boys:

Scheduled Caste 940
Scheduled Tribes 970
Non SC/ST 920
Backward districts 950
Non-backward districts 920
Rural 9310
Urban 910

the information above by a bar graph

Represent

o Watch Video Solution

21. The following data on the number of girls (to the nearest ten) per

thousand boys in different sections of Indian Society is given below :


https://dl.doubtnut.com/l/_v6MwDiokj0tX
https://dl.doubtnut.com/l/_csrh2AZML0Uw

Section Number of girls
per thousand boys:

Scheduled Caste 940

Scheduled Tribes 970

Non SC/ST 920

Backward districts 950

Non-backward districts 920

Rural 9310

Urban 910 . Represent

the information above by a bar graph

° Watch Video Solution

22. Given below are the seats won by different political parties in the

polling outcome of a state assembly elections :

Political A B © D E F

Parties

Neats 75 55 3T 29 1 37

EII'.I].I : Draw a bar

graph to represent the polling results.

° Watch Video Solution



https://dl.doubtnut.com/l/_csrh2AZML0Uw
https://dl.doubtnut.com/l/_uY9459JzDNym

23. Given below are the seats won by different political parties in the

polling outcome of a state assembly elections :

Poliical A B © D . F

Parties

Seats 75 55 3T 29 1 37

Won . Which

political party won the maximum number of seats.

o Watch Video Solution

24. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_uY9459JzDNym
https://dl.doubtnut.com/l/_ySim48iMfxsN
https://dl.doubtnut.com/l/_YDVjoma3Rc96

Length in mm Number of leaves
118-126 3
127-135 5
136-144 9
145-153 12
154-162 5
163-171 4
172-180 2
Draw a

histogram to represent the given data.

° Watch Video Solution

25. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_YDVjoma3Rc96
https://dl.doubtnut.com/l/_H0Hyo0oW94MQ

Length in mm Number of leaves
118-126 3
127-135 5
136-144 9
145-153 12
154-162 5
163-171 4
172-180 2
: Is there any

other suitable graphical representation for the same data ?

° Watch Video Solution

26. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_H0Hyo0oW94MQ
https://dl.doubtnut.com/l/_JVBLC2UpVziN

L

Length in mm Number of leaves
118-126 3
127-135 3
136-144 2
145-153 12
154-162 5
163-171 4
172-180 r

: Is it correct

to conclude thatthemaximum number of leaves are 153 mm long ? Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_JVBLC2UpVziN

27.The following table gives the life times of 400 neon lamps :

Lifetime (in hrs) | Number of lamps
300-400 14
400-500 56
500-600 60
600-700 86
T00-800 74
800-900 62
200-1000 48
. Represent

the given information with the help of a histogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_oTrktwHrR39J

28.The following table gives the life times of 400 neon lamps :

Lifetime (in hrs) | Number of lamps
300-400 14
400-500 56
500-600 60
600-700 86
T00-800 74
800-900 62
200-1000 48
: How many

lamps have a life time of more than 700 hours ?

° Watch Video Solution

29.The following table gives the distribution of students of two sections

according to the marks obtained by them:


https://dl.doubtnut.com/l/_yV0FCiR9T5tL
https://dl.doubtnut.com/l/_jWmdWorvnwcF

Section A Section B

Marks Fregquency Marks Frequency

(1-10 3 0-10 -
10-20 9 10-20 19
20-30 17 20-30 15
30-40 12 J0-40 10
40-50 9 40-50 1

Represent

the marks of the students of both the sections on the same graph by two
frequency polygons. From the two polygons compare the performance of

the twosections.

o Watch Video Solution

30.The runs scored by two teams A and B in the first 60 balls in a cricket

match are given below:


https://dl.doubtnut.com/l/_jWmdWorvnwcF
https://dl.doubtnut.com/l/_zFfqPMk5qdhu

Number of balls | Team A | Team B
1-6 2 3
7-12 1 6
13-18 8 2
19-24 9 10
25-30 4 3
31-36 5 6
37-42 6 3
43748 10 4
49-54 b ]
55-60 2 10
Represent

the data of both the teams on the same graph by frequency polygons.

° Watch Video Solution

31. 100 surnames were randomly picked up from a local telephone
directory and a frequency distribution of the number of letters in the

English alphabet in the surnames was found as follows :


https://dl.doubtnut.com/l/_zFfqPMk5qdhu
https://dl.doubtnut.com/l/_vhgrCKXdUTpZ

Number of alphabets | Number of people
1-4 6
4-6 30
6-8 4
8-12 16
12-20 4
Draw a

histogram to depict the given information.

° Watch Video Solution

32. 100 surnames were randomly picked up from a local telephone
directory and a frequency distribution of the number of letters in the

English alphabet in the surnames was found as follows :


https://dl.doubtnut.com/l/_vhgrCKXdUTpZ
https://dl.doubtnut.com/l/_5Wuxo2LfP7XZ

Number of alphabets | Number of people
1-4 6
4-6 30
6-8 44
8-12 16
12-20 4
: Write the
class interval in which the maximum number of surnames lie.
° Watch Video Solution
33.If ¢ is the mean of x1, x2x2,X3, .......... xn , then the mean of x1+ax2+a,

x3+a..xn+a

° Watch Video Solution

34. If the mean of 8 observations be 15 and 2 be added to each

observation, then the mean of new set of observations will be .

° Watch Video Solution



https://dl.doubtnut.com/l/_5Wuxo2LfP7XZ
https://dl.doubtnut.com/l/_zHs6LXc6Cn6y
https://dl.doubtnut.com/l/_CQWYg9RZ7sie

35.The following number of goals were scored by a team in a series of 10
matches : 2, 3, 4, 5, 0, 1, 3, 3, 4, 3 Find mean, median and mode of these

scores :

° Watch Video Solution

36. In a mathematics test given to 15 students, the following marks (out
of 100) are recorded : 41, 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60

Find the mean, median and mode of this data.

° Watch Video Solution

37. The following observations have been arranged in theascending
order.If themedian of the data is 63, find the value of x : 29, 32, 48, 50, x,x +

2,72,78, 84,95

° Watch Video Solution



https://dl.doubtnut.com/l/_7e9FQV13BzZ5
https://dl.doubtnut.com/l/_mNiVAg51h7LV
https://dl.doubtnut.com/l/_GxuBTPf67Hbm
https://dl.doubtnut.com/l/_XcgndD8CGdZV

38.Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18.

° Watch Video Solution

39. Find the mode of the following data in each case: 7,9,12,13,7,12,15, 7,

12,7, 25,18,7

° Watch Video Solution

40. Find the mean salary of 60 workers of a factory from the following

table:


https://dl.doubtnut.com/l/_XcgndD8CGdZV
https://dl.doubtnut.com/l/_WhLOtt6axvun
https://dl.doubtnut.com/l/_WKcZRfU0eQRq

Salary (in7) | Number of employees;
SO0 16
4000 12
SO0 10
GO0 8
T000 (i
K000 4
9001 3
10000 L
Total 6k

° Watch Video Solution

41. Give an example of a situation in which : the mean is an appropriate

measure of central tendency.

° Watch Video Solution

42. Give one example of a situation in which the mean is not an

appropriate measure of central tendency but the median is an


https://dl.doubtnut.com/l/_WKcZRfU0eQRq
https://dl.doubtnut.com/l/_gJPJfHxqlwOP
https://dl.doubtnut.com/l/_QT54Onh1oTF3

appropriate measure of central tendency.

o Watch Video Solution

1. The weights (in kg) of 30 students of a class are 49, 48, 46, 48, 48, 50, 52,
53,54, 43,43, 41, 43, 55, 56, 48, 47, 41, 40, 49, 51, 51, 56, 46, 45, 44, 49, 53, 42
and 47. Prepare a frequency table for the above data and answer the

following questions : What is the least weight ?

° Watch Video Solution

2. The weights (in kg) of 30 students of a class are 49, 48, 46, 48, 48, 50,
52,53, 54,43, 43, 41, 43, 55, 56, 48, 47, 41, 40, 49, 51, 51, 56, 46, 45, 44, 49, 53,
42 and 47. Prepare a frequency table for the above data and answer the
following questions : Find the number of students having the least

weight in the above data.

| oo ]


https://dl.doubtnut.com/l/_QT54Onh1oTF3
https://dl.doubtnut.com/l/_eIrc62Lxe8JW
https://dl.doubtnut.com/l/_GfMbE29tE9DV

I & Watch Video Solution ]

3. The weights (in kg) of 30 students of a class are 49, 48, 46, 48, 48, 50,
52,53, 54, 43,43, 41, 43, 55, 56, 48, 47, 41, 40, 49, 51, 51, 56, 46, 45, 44, 49, 53,
42 and 47. Prepare a frequency table for the above data and answer the
following questions : Find the number of students having the maximum

weight in the above data.

o Watch Video Solution

4. The weights (in kg) of 30 students of a class are 49, 48, 46, 48, 48, 50,
52,53, 54, 43,43, 41, 43, 55, 56, 48, 47, 41, 40, 49, 51, 51, 56, 46, 45, 44, 49, 53,
42 and 47. Prepare a frequency table for the above data and answer the
following questions : Which weight is possessed by the maximum number

of students ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GfMbE29tE9DV
https://dl.doubtnut.com/l/_7LTjCGGQYOKT
https://dl.doubtnut.com/l/_Aja7cJj6aMSq

5. Construct a grouped frequency table with class intervals 0-5, 5 -10 and
so on for the following marks obtained in Biology (out of 50) by a group
of 35 students in an examination : O, 5, 6, 7, 10, 12, 14, 15, 20, 22, 25, 26, 27,
8, 11,17, 3, 6,9, 17,19, 21, 22, 29, 31, 35,37, 40, 42, 45, 49, 4, 50, 16 and 20.:

What is the range of the data ?

o Watch Video Solution

6. Construct a grouped frequency table with class intervals 0-5, 5 -10 and
so on for the following marks obtained in Biology (out of 50) by a group
of 35 students in an examination : O, 5, 6, 7, 10, 12, 14, 15, 20, 22, 25, 26, 27,
8, 11,17, 3, 6,9, 17,19, 21, 22, 29, 31, 35,37, 40, 42, 45, 49, 4, 50, 16 and 20.:

Which group contains the maximum number of students ?

o Watch Video Solution

7.Pulse rate (per miute) of 30 persons were recorded as

61,76,72,73,71,66,78,73,68,81,78,63,72,75,80,68,75,62,71,81,73,60,79,72,73,74,71,64,7¢


https://dl.doubtnut.com/l/_2ei9yNNhwupL
https://dl.doubtnut.com/l/_ncCys84kIppV
https://dl.doubtnut.com/l/_CGCt4k0GPlmq

and71.
Construct a frequency table using class-invervals of equal width,one class

interval being (60-65).

o Watch Video Solution

8. Pulse rate (per miute) of 30 persons were recorded as
61,76,72,73,71,66,78,73,68,81,78,63,72,75,80,68,75,62,71,81,73,60,79,72,73,74,71,64,7¢
and71.

Construct a frequency table using class-invervals of equal width,one class

interval being (60-65).

o Watch Video Solution

9. Pulse rate (per miute) of 30 persons were recorded as
61,76,72,73,71,66,78,73,68,81,78,63,72,75,80,68,75,62,71,81,73,60,79,72,73,74,71,64,7¢
and71.

Construct a frequency table using class-invervals of equal width,one class

interval being (60-65).


https://dl.doubtnut.com/l/_CGCt4k0GPlmq
https://dl.doubtnut.com/l/_ecl2MPxXk31u
https://dl.doubtnut.com/l/_XI0SgEcXshmc

o Watch Video Solution

10. Pulse rate (per miute) of 30 persons were recorded as
61,76,72,73,71,66,78,73,68,81,78,63,72,75,80,68,75,62,71,81,73,60,79,72,73,74,71,64,7¢
and71.

Construct a frequency table using class-invervals of equal width,one class

interval being (60-65).

o Watch Video Solution

11. A family with monthly income of Rs. 20,000 had planned the following

expenditures under various heads :


https://dl.doubtnut.com/l/_XI0SgEcXshmc
https://dl.doubtnut.com/l/_6sqjk4l9MYM4
https://dl.doubtnut.com/l/_HL4vvGF9KQpv

Serial Head Expenditure
Number (in Rs. 1000)
Grocery 4
2. Rent 5
Education of 0
children
4, Medicine 2
. Fuel for vehicle 2
6. Entertainment 1
1. Miscellaneous |
Draw a bar

graph for the above data.

o Watch Video Solution

12. Consider the following frequency distribution table representing the

weights of 40 students of a class .


https://dl.doubtnut.com/l/_HL4vvGF9KQpv
https://dl.doubtnut.com/l/_CmMB6o9otbAM

Weights (kg) Number of students
30.5-355 9
35.5¢10.5 I
40.5-45.55 15
45.5-50.55 3
50.5-555 |
| ST LRSS || PR ——
| Weights (kg) | Number of students

55.5-60.55 2

60.5-65.55 I

65.5-70.55 1

70.5-75.55 1

Total 40

histogram to represent the above data.

Draw

a

° Watch Video Solution

13. The following distribution gives the time taken by 25 students to solve

a problem.



https://dl.doubtnut.com/l/_CmMB6o9otbAM
https://dl.doubtnut.com/l/_ognxlfvv8lPh

(im seconds )

Time 15-20) 20-25] 25-30 | 30-35 | 35-40| 40-45}45-50

Mumbser
of students

(oo}
Lt
]

histogram to represent the above Data.

Draw

a

o Watch Video Solution

14. The following table presents the number of literate females in the age

group (10-34) in town.

Age Group No. of Females
(to the nearest ten)
10-14 300
15-19 980
20-24 800
25-29 580
30-34 290
Total 2950

histogram to represent the above data

Draw

a

° Watch Video Solution



https://dl.doubtnut.com/l/_ognxlfvv8lPh
https://dl.doubtnut.com/l/_jWe8Js7GJO0x
https://dl.doubtnut.com/l/_eZ4DbFyXurc0

15. For the following data, draw a frequency polygon

Marks Number of Students
0-10 5
10-20 10
20-30 8
30-40 5
40-50 .
Total 30

o Watch Video Solution

16. In a city, the following weekly observations were made in a study on

cost of living index :


https://dl.doubtnut.com/l/_eZ4DbFyXurc0
https://dl.doubtnut.com/l/_ctSVZuMLwTdy

Cost of Living Index

Number of Weeks

140-150 >
150-160 10
160-170 20
170-180 9
180-190 6
190-200 g

Total 52

Draw a

histogram and frequency polygon for the above data on the same graph.

° Watch Video Solution

17. The following table gives the distribution of IQ (intelligence Quotient)

of 60 pupils of class IX in a school

| 11 G000 D0 100 |§ 0= 1 20 [120-130 |1 30-160 | 160-150 | 150=20
MNumber
ol Pupls | 12 7 b [1] ] 15 4 2

histrogram to represent the above data.

Draw a


https://dl.doubtnut.com/l/_ctSVZuMLwTdy
https://dl.doubtnut.com/l/_5ybGrZeRcHsj

° Watch Video Solution

18. A teacher wanted to analyse the performance of two sections of
students in a Mathematics test. She grouped the students into the

categories obtaining marks between O - 35, 35 - 50, 50 - 60, 60 - 75, 75 and

above and formed the following table
Marks Number of Students
0-35 17
35-50 30
50-60 20
60-75 15
75-above 8
90
Prepare a

histogram to respresent the above data.

o Watch Video Solution



https://dl.doubtnut.com/l/_5ybGrZeRcHsj
https://dl.doubtnut.com/l/_6pCOLWSEZgvy

19. The mean of 96, 98, x, 102, 104 is 100, find x.

° Watch Video Solution

20. Find the mean of all possible factors of 20.

° Watch Video Solution

21. Find the mean of 25, 27, 19, 29, 21, 23, 25, 30, 28, 20 and prove that the

sum of the deviation taken from the mean is zero.

° Watch Video Solution

22. Let m be the mid-point and | be the upper class limit of a class in a

continuous frequency ditribution. The lower class limit of the class is :

A.2m+ |


https://dl.doubtnut.com/l/_F8EG85WElFjM
https://dl.doubtnut.com/l/_tyfIZ66cbDxO
https://dl.doubtnut.com/l/_Nz5MIV5e9K1v
https://dl.doubtnut.com/l/_1fnTD1keZix2

Answer:

° Watch Video Solution

23. The class marks of a frequency distribution are given as follows : 15,

20, 25, The class corresponding to the class mark 20 is :

A.12.5-17.5

B.17.5-22.5

C.18.5-21.5

D. 19.5-20.5.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1fnTD1keZix2
https://dl.doubtnut.com/l/_5vR4XFONdv5N

24. In the class intervals 10-20, 20-30, the number 20 is included in.

A.10-20

B. 20-30

C. both the intervals

D. none of these

Answer:

o Watch Video Solution

25. A grouped frequency table with class intervals of equal sizes using 250
-270 (270 not included in this interval) as one of the class interval is
constructed observations for the following data : 268, 220, 368, 258, 242,
310, 272, 342, 310, 290, 300, 320, 319, 304, 402, 318, 406, 292, 354, 278, 210,

240, 330, 316, 406, 215, 258, 236. The frequency of the class 310-330 is :


https://dl.doubtnut.com/l/_5vR4XFONdv5N
https://dl.doubtnut.com/l/_hsY0tcGZyfvH
https://dl.doubtnut.com/l/_Hq5RwWbxVuVq

A 4

B.5

C.6

D.7

Answer:

o Watch Video Solution

26. A grouped frequency distribution table with classes of equal sizes
using 63 - 72 (72 included) as one of the class is constructed for the
following data : 30, 32, 45, 54, 74, 78, 108, 112, 66, 76, 88, 40, 14, 20, 15, 35,
44,66, 75, 84, 95, 96, 102, 110, 88, 74, 112, 14, 34, 44. The number of classes

in the distribution will be :

A.9

B.10


https://dl.doubtnut.com/l/_Hq5RwWbxVuVq
https://dl.doubtnut.com/l/_32Er2DbQirFc

D.12

Answer:

° Watch Video Solution

27.To draw a histogram to represent the following frequency ditribution :

Class interval S—10 10-15 15-25 25-45 45-75
Frequency (7 12 10 & 15

the adjusted

frequency for the class 25-45is :

A 6

B.5

C.3

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_32Er2DbQirFc
https://dl.doubtnut.com/l/_C8NxAWIKoVYO

28. The mean of five numbers is 30. If one number is excluded, their mean

becomes 28. The excluded number is :

A. 28

B.30

C.35

D.38

Answer:

o Watch Video Solution

29. If the mean of the observations : x, x + 3, x + 5,x + 7, x + 10 is 9, the

mean of the last three observations is

A.10.333333333333

B.10

c.1n1/3


https://dl.doubtnut.com/l/_AaiDHAfC06up
https://dl.doubtnut.com/l/_yTYND741TIV5

D.112/3

Answer:

° Watch Video Solution

30. If  represents the mean of n observations =, z9,.......,x, , then

n
value of Z (zy —Z)is:
i=1

A -1
B.O
C.1

D. n-1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yTYND741TIV5
https://dl.doubtnut.com/l/_7Nm7Y7UD8aCM

31.If each observation of the data is increased by 5, then their mean

A. remains the same

B. becomes 5 times the original mean
C.is decreased by 5

D. is increased by 5.

Answer:

o Watch Video Solution

32. Let * be the mean of =z, zo,

D. ‘(barx+bary)/2n)

, Yn 2 is the mean of 1, xo, .. ..

,Z, and y the mean of

, Ty Y1, Yo is equal to:


https://dl.doubtnut.com/l/_MZhfRqdZ7nQe
https://dl.doubtnut.com/l/_fjdM3gliznYN

Answer:

° Watch Video Solution

xn , then for a = 0, the mean of

33. If £ is the mean of X1x2,X3, ...
T2 T2 Tn .
ATy ALy v oe oy ALy ——y g e eveeey — IS
a’ a a
(e+2)2
Ala+ — |z
a
B + 1)z
.la i
1\ z
Cla+ —)—
a/n
1)\ =
5 (0, -+ E)
2n
Answer:
o Watch Video Solution

, T, are the means of n groups with ny, n,

34.If 4, Zo, T3, -
numbers of observation respectively , then the mean Z of all the group


https://dl.doubtnut.com/l/_fjdM3gliznYN
https://dl.doubtnut.com/l/_5Owb0Gu2way5
https://dl.doubtnut.com/l/_xsaltgkeh4ml

taken together is given by

Answer:

o Watch Video Solution

35. The mean of 100 observations is 50. If one of the observations which

was 50 is replaced by 150, the resulting mean will be :

A.50.5

B. 51

C.515

D. 52


https://dl.doubtnut.com/l/_xsaltgkeh4ml
https://dl.doubtnut.com/l/_5tGsKHxySD9w

Answer:

° Watch Video Solution

36. There are 50 numbers. Each number is subtracted from 53 and the

mean of the numbers so obtained is found to be -3.5. The mean of the

given number is:

A.46.5

B.49.5

C.535

D. 56.5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5tGsKHxySD9w
https://dl.doubtnut.com/l/_67ZZdBesQgIn

37. The mean of 25 observations is 36. Out of these observationsif the
mean of first 13 observations is 32 and that of the last 13 observations is
40, the 13th observation is :

A. 23

B. 36

C.38

D. 40

Answer:

o Watch Video Solution

38. The median of the data 78, 56, 22, 34, 45, 54, 39, 68, 54, 84 is

A. 45
B.49.5

C.54


https://dl.doubtnut.com/l/_z0cxlpWqgzJE
https://dl.doubtnut.com/l/_OoKzpButjuAc

D. 56

Answer:

° Watch Video Solution

39. For drawing a frequency polygon of a continuous frequency
distribution, we plot the points whose ordinates are the frequency of the
respective classes and abcissae are respectively :

A. upper limits of the clases

B. lower limits of the classes

C. class marks of the classes

D. upper limits of perceeding classes.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OoKzpButjuAc
https://dl.doubtnut.com/l/_6VwEUVEYknKX
https://dl.doubtnut.com/l/_xlic65s15s2E

40. Median of the following numbers : 4,4,5,7,6,7,7,12,3 is

A4

B.5

C.6

D.7

Answer:

° Watch Video Solution

41. Mode of the data 15, 14, 19, 20, 14, 15,1 6, 14, 15, 18, 14,19, 15,17, 15 is

A 14

B.15

D. 17


https://dl.doubtnut.com/l/_xlic65s15s2E
https://dl.doubtnut.com/l/_zHA19VinkgSC

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zHA19VinkgSC

